EAGRAROBREERT — 2 N— ABISH —F

2020868110 (K) 6EEMH2H

EES—F— ¥5%3% ESRE IR
[A&£] 1 7 :20,000,000  ~ 2 3% :5,600,000 ™  33&:2,800,000 ™ 4 3% :2,000,000™ 5 3&:1,600,000 @
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
—: N AR :04. -1-1- . - FEiERER (RM)
i MEEE RS 4 3 L 2((31)3 1-1-1-1 | 40.3 7 (4+911) e
LY IRGTA TR B:T757314 b RT=2 W7 7 — L4
== 4 3 | TEE 2:04.4 2-2-2-2 | 40.2| — 1 475 | FFHE (ER)
20719 2T7E%F—7 54.0 (1/2) (5 | HEES
RIZKT—NSF— B:USATIN S
= ¢ 5 43 | EREE 2:05.2 1-11-8-8 | 39.4 | — 2 487 | EhEEIE (EM)
3lgl11|TFZ71o> 56.0 (5) 4y |AHEE
L:¥xrinq4n— B:vUCTFRb AR
o R 4 3 | ALEE 2:05.2 3-3-4-5 |40.8| — 3 458 | AFEF (EH)
4]8[12| EXNZE 5.0 ) o | mEmA
LNZ—ka1—X B:FY4a70-5 EEae]
S 5 7 N 4 3 | BEHT 2:05.3 5-5-5-4 | 40.6 | — 4 462 | REFE ()
5 8 HIZRAT v 7> 56.0 (1/2) “+3) BEHE
LI >T5vva BYALCZARY -4 b e
_ ft 3 | FEHEL 2:06.0 4-4-3-3 | 41.6| — 10 | 408 |3EAFE (FEk)
6 3| A by— 54.0 () (-3) |MEE
L:TUHL XTI R BAY /IRy Y Pal:be )
. N MARKH . g7 — ERER (FR)
715l 6| KX %+ > K s B W A ? :??) el
R:bFLELR B:Oaax vl R 11415
S = # 3 | MERAF 2:06.5 12-12-11-10| 40.4 | — 1| 445 |BEAEX (EE)
8|11z TIT1 2 1/2) (s) |IMHEF
LixfagR—-5— B:7II722R A HE
s . ERHE 06. —~6-6- 8| - KBAES (FEl)
9l7l10l Ly K¥vUF> 3 a0 286)7 7-6-6-6 | 41.8 9 ;1_354) ;d'F?SBH
R:Iqy>7RAY B:iLy KXEUvY KET 7 — L
= N N AL :07. ~7-9- . — WIEE% (EE
10 2| FZANNFT I 56.0 2%9 671 | 42.8 6 f; émm
RTETFRAT B hTTy RUIN— FE R
B 3 | BEF 2:07.9 10-10-10-9 | 42.3 | — 5 466 | B—I5 (EH)
1|5|5|%¥7/FF 54.0 7€) s |FEE
x40 Biedngeir INHISH T 7—Ls
HTEH : -9-12- — Mg (Em)
19 4 < o= o=y 4 3 54.0|— (271{3_5) 9-9-12-12 | 47.2 12 ‘:é; %:Eafgf
R:VZRB—IZXB— B9 aTAT =N
@ 1—F—@&BIEf
13=zr= 7,9,12,3,8,2,10,6,4,5,11,1
23—+ — 7,9,12,3,8,10,2,6,4,5,11,1
3a—+— 7,9,3,12,8,10,6,11,2,5,1,4
40 —F— 7,9,3,8,12,(6,10),11,5,1,2,4
[ RN
B OB 7 2,920/ 714K 7-9 780M e & 6-7 830M 3ER 7-9-11 2,190
% B 7 450 7-11 20| | B = 7-9 2,210 | | 3EE 7-9-11 29,350
9 120 9-11 220M B H 7-9 8,400
1 140

ARICOVWTRDTEEERROODE. TR LI,




